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CE-303-A : Advanced Accounting & Auditing

Time : 2 Hours]

Instructions :

(1
)
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(Management Accounting—2)

[Max. Marks : 50

Attempt any two out of four questions in Part-A.

Question No. 5 of Part-B is compulsory.

Part— A

(Attempt any two)

1.  From the given data, calculate Material Cost Variance, Material Price Variance, Material
Usage Variance and Material Mix Variance.

Kgs.
180
220
400

Standard
Price per kg. X
10
12

Kgs.
200
280
480

Actual
Price per kg.
8
10

20

2. Calculate Budget variance, volume variance, efficiency variance and capacity variance
of the fixed overhead on the basis of following information :

Standard hours sanctioned

Actual hours used in production

Fixed overhead estimate for 3600 hours

Fixed overheads recovered on the basis of standard hours

Actual fixed overhead

Standard fixed overhead per hour
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3900
33600
33690
33640
31
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3. (i) Initial investment I 2,00,000
Maturity period is 10 years
Rate of interest is 8% compounded annually.
Calculate total amount receivable on maturity. 07
(1) A has a recurring bank account in which he pays ¥ 12,000 per annum on which the
bank pays interest at 10% p.a. compounded annually. Calculate the amount he will
receive at the end of 8 years. 07
(i11) What is the present value of a sum to be deposited in a bank for a period of 6 years
at 10% rate of interest to get < 4,25,184. 06
4.  Initial investment I 8,00,000 20

Project life is 5 years

Rate of tax 50%

Annual cash flow before depreciation and tax will be as under :

Year Cash flow X
1. 2,00,000
2 3,00,000
3. 3,00,000
4. 4,00,000
5. 4,00,000
Calculate :

(i) Pay back period

(i1) Average Accounting rate of return

(ii1) Net present value

Present value of ¥ 1 for five years at 10% discount rate is 0.909, 0.826, 0.751, 0.683
and 0.621 respectively.
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Part— B
5. Select correct alternative : (any Five) 10
(1) Pre determined cost to manufacture a single unit is called as
(a) Fixed cost (b) Standard cost
(c) Variable cost (d) Estimated cost
(2) The difference between standard cost and actual costis
(a) overheads (b) variance
(c) budget (d) estimated cost
(3) (Actual production x Standard rate) — Actual cost=__
(a) Variable Overhead, Expenditure Variance
(b) Variable Overhead, Efficiency Variance
(c) Variable Overhead, Cost Variance
(d) Volume Variance

(4) (Revised Budget Quantity — Budget Quantity) Standard Rate =

(a) Expenditure Variance (b) Volume Variance
(c) Calender Variance (d) Fixed Overhead Variance
(5) The value of a certain amount of money received earlier is that of money

received after a longer period of time.

(a) Equal (b) Higher than
(c) Less than (d) Can not be said
(6) By technique the amount of future cash flows are converted into their

present values.
(a) Compounding (b) Discounting
(¢) Annuity (d) Both (a) and (b)
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(7)  The process of taking decisions as to which asset should be purchased and how to

spend the funds for this purpose is calledas .
(a) Financial Accounting (b) Cost Accounting
(c)  Capital Budgeting (d) (a)and (b) both
(8) Net Present Value =
(a) Present value of cash flow
(b) Present value of cash flow + Present value of investment
(c) Present value of cash flow — Present value of investment

(d) Present value of investment
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